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Chapter 2 Quiz Review
       Advanced Algebra


1.  For
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1.  ___________________________
2.  Suppose 
[image: image3.emf]f(x)=2x+3
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2.  ___________________________

     find the value of 
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3.  Graph the equation 
[image: image6.emf]3x-2y=-4
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3.  

4.  Find the equation of the line through the points


4.  ___________________________

     (-10, 3) and (-2, -5).

5.  Find the slope of the line with equation 
[image: image7.emf]4x-3y=-6
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5.  ___________________________

6.  Find the equation of the line that passes through the point 
6.  ___________________________

      (8, -1) and is parallel to the line 
[image: image8.emf]y=2x+5
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7.  Given 
[image: image9.emf]3y=2x









3y
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2x

, determine whether y varies directly

7.  ___________________________

     with x.  If so, find the constant of variation k.
8.  Suppose you work on a tree farm and you need to find the height of each tree.  You know that the 
     length l of an object’s shadow varies directly with its height h.




     a.  Find the constant of variation for a 2 foot 2 inches

8a.  __________________________
     
  shadow cast by a 6 foot tall tree.
     b.  Write an equation to model the relationship between

8b.  __________________________

           the shadow cast by a tree and the height of the tree.
9.  If y varies directly with x, and y = -51 when x = 27, 

9.  ___________________________

     what is y when x = -17?
10. Is the relation 
[image: image10.emf]{1,-2),(=2,0),(-1,2),(1,3)}
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10.  __________________________
      a function?  Explain why or why not.
11. Is the relation 
[image: image11.emf]{1,1,(2,2),(3,5),(4,10),(5,15)}
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11.  __________________________

      a function?  Explain why or why not.
12.  Find the x-intercept AND the y-intercept of the line 

12.  x-intercept: ________________
      
[image: image12.emf]3y-2x=-12
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       y-intercept: ________________
13.  Write the equation of the line that contains the point (-9, -3)
13.  __________________________
        and is perpendicular to the line 
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14.  How can you determine whether a graph represents a function?
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